Vehicle Dock Mounting Kit Instructions

’ntermec

You can use the vehicle dock mounting kit to install a vehicle dock on your vehicle.
This kit includes:

*  One RAM™ mount

* Four #8 screws

* Four #10 screws

* Four Nylok nuts

*  One optional offset plate

To install the mounting kit

1 Ifyou need additional cable clearance between the vehicle dock and the RAM
mount, use four #8 screws to attach the offset plate to the vehicle dock.

2 Ifyouattached the offset plate in Step 1, use four #10 screws and the Nylok nuts
to attach the RAM mount to the offset plate.

If you are not using the offset plate, use four #8 screws to attach the RAM
mount directly to the vehicle dock.

3 Attach the RAM mount base to a solid surface on your vehicle.

Vehicle dock

#8 screw b
(4 places) =@ \ ° 5

O

#10 screw 7

(4 places) @@/ Nylok nut

(4 places)

Offset plate

RAM mount

The CK3 vehicle dock is shown as an example.



’ntermec

Worldwide Headquarters
6001 36th Avenue West
Everett, Washington 98203
U.S.A.

Vehicle Dock Mounting Kit Instructions tel 425.348.2600

fax 425.355.9551
©

2008 Intermec Technologies

P/N 943-095-002 Corporation. All rights reserved.



